Bom

rev 1

Operator Interface Panel

ltem# Qty Description MFG Distributor |Part# Cost

1 1|PMAC Operator Panel PMAC Cymatix

2 1|PMAC Logic Board PMAC Cymatix

3 1|LMB UNI-PAC Front/Back Panel UNI-PAC ([Halted FR 525-14 $25.24

4 1|Make-From Front/Back Panel UNI-PAC ([Halted FR 525-14 MF1

5 2{LMB UNI-PAC Side Panel UNI-PAC [Halted SS 525-7 $21.31

6 1|Make-From Top/Bottom Panel UNI-PAC [Halted TB 14-7 MF1 $27.32

7 1|Make-From Top/Bottom Panel UNI-PAC [Halted TB 14-7 MF2

8 4|Screw 8-32 x 3/8 SS Phillips PanHead Stock $0.20

9 4{Lockwasher, #8 Stock $0.08
10 4[Nut, #8 Stock $0.20
11 4|Screw, 4-40 x 1 SS Phillips Csink Stock $0.30
12 4|Standoff 4 x 40 x 3/8 Stock $0.50
13 4|Star Washer, Internal #4 Stock $0.10
14 4|Nut, #4 Stock $0.10
15 1|Cable Asy Rako Eng [Rako Eng |Cable Op Panel 1 $80.00
16 1|Grommet, 5/8 Stock $0.20

1

55.35




